

MOMENT SEQUENCES IN HILBERT SPACE

GORDON G. JOHNSON

Suppose f is a real valued function of bounded variation on $[0, 1]$. Then for each nonnegative integer n , the Stieltjes integral $\int_0^1 j^n df$ exists, where for each number x , $j(x) = x$. A necessary and sufficient condition is given for f in order that the moment sequence for f , $\{C_n\}_{n=0}^\infty$, is square summable. A second result establishes that the set of all such square summable moment sequences is dense in l^2 .

LEMMA 1. If p is a number, $1/2 < p < 1$, and for each nonnegative integer n , $a_n = 1 - (n + 1)^{-p}$ then

1. $\lim_{n \rightarrow \infty} a_n^n = 0$,
2. $\sum_{n=0}^\infty a_n^{2n}$ exists

and

3. $\sum_{n=0}^\infty (1 - a_n)^2$ exists.

Proof. To establish 1,

$$\begin{aligned} \lim_{n \rightarrow \infty} a_n^n &= \lim_{n \rightarrow \infty} (1 - n^{-p})^n \\ &= \exp \left[\lim_{n \rightarrow \infty} n \ln [1 - n^{-p}] \right]. \end{aligned}$$

Since $1/2 < p < 1$,

$$\lim_{n \rightarrow \infty} n \ln [1 - n^{-p}] = -p \lim_{n \rightarrow \infty} n/[n^p - 1] = -\infty$$

and hence the result.

To establish 2, it will be sufficient to show that for sufficiently large n

$$a_n^n \leq (1 + n)^{-p}$$

i.e., that $[1 - n^{-p}]^{n-1} \leq n^{-p}$.

Let $n^p = k$ and $g = p^{-1} - 1$ (note that $g > 0$); we have then to show that

$$[[1 - k^{-1}]^k]^{k^g} \leq k^{-1} - k^{-2}.$$

Recall that

$$[1 - k^{-1}]^k \leq e^{-1}$$

and hence that

$$[[1 - k^{-1}]^k]^{k^g} \leq e^{-k^g}.$$

Now if k is large we have

$$e^{-k^g} \leq k^{-1} - k^{-2}$$

and the result is established.

The third part follows immediately from the definition of a_n .

THEOREM 1. *If f is a real valued function of bounded variation on $[0, 1]$ and, for each nonnegative integer n , $\int_0^1 j^n df = C_n$ exists, then*

$$\sum_{n=0}^{\infty} C_n^2 < \infty$$

if and only if

$$\sum_{n=1}^{\infty} \left[f(1) - \int_{a_n}^1 f dj^n (1 - a_n^n) \right]^2 < \infty$$

where the sequence $\{a_n\}_{n=0}^{\infty}$ is as given in Lemma 1.

Proof. Let us first establish the necessity of the condition. Suppose $\sum_{n=0}^{\infty} C_n^2 < \infty$.

If n is a positive integer

$$\begin{aligned} C_n &= \int_0^1 j^n df \\ &= \int_0^{a_n} j^n df + \int_{a_n}^1 j^n df \\ &= a_n^n f(a_n) - \int_0^{a_n} f dj^n + \int_{a_n}^1 j^n df. \end{aligned}$$

Let $\gamma_n = \int_0^{a_n} f dj^n / a_n^n$, then

$$C_n = a_n^n [f(a_n) - \gamma_n] + f(1) - f(a_n) a_n^n - \int_{a_n}^1 f dj^n.$$

Let $\delta_n = \int_{a_n}^1 f dj^n / (1 - a_n^n)$, then

$$\begin{aligned} C_n &= a_n^n [f(a_n) - \gamma_n] + f(1) - f(a_n) a_n^n - (1 - a_n^n) \delta_n \\ C_n &= a_n^n [\delta_n - \gamma_n] + [f(1) - \delta_n] \end{aligned}$$

and

$$C_n^2 = (\alpha_n[\delta_n - \gamma_n] + [f(1) - \delta_n])^2 .$$

Since the sequence $\{[\delta_n - \gamma_n]\}_{n=1}^\infty$ is bounded it follows from Lemma 1 that

$$\sum_{n=1}^\infty \alpha_n^{2n} [\delta_n - \gamma_n]^2 < \infty .$$

Hence, since $\sum_{n=0}^\infty C_n^2 < \infty$, we have that

$$\sum_{n=1}^\infty [f(1) - \delta_n]^2 < \infty$$

i.e.,

$$\sum_{n=1}^\infty \left| f(1) - \int_{\alpha_n}^1 f dj^n / (1 - \alpha_n) \right|^2 < \infty$$

and therefore the condition is necessary.

Now let us establish the sufficiency, i.e., suppose that

$$\sum_{n=1}^\infty \left| f(1) - \int_{\alpha_n}^1 f dj^n / (1 - \alpha_n) \right|^2$$

exists.

Now $C_n = \left[f(1) - \int_{\alpha_n}^1 f dj^n \right] - \int_0^{\alpha_n} f dj^n$ for $n = 0, 1, 2, \dots$.

As befor

$$\sum_{n=1}^\infty \left(\int_0^{\alpha_n} f dj^n \right)^2$$

exists and hence we have only to consider

$$\begin{aligned} & \sum_{n=1}^\infty \left(f(1) - \int_{\alpha_n}^1 f dj^n \right)^2 \\ &= \sum_{n=1}^\infty \left(\left[f(1) - \int_{\alpha_n}^1 f dj^n \right] / [1 - \alpha_n] \right)^2 (1 - \alpha_n)^2 \\ &\leq \sum_{n=1}^\infty \left(\left[f(1) - \int_{\alpha_n}^1 f dj^n \right] / [1 - \alpha_n] \right)^2 \\ &= \sum_{n=1}^\infty \left(f(1) - \int_{\alpha_n}^1 f dj^n / [1 - \alpha_n] + f(1) \alpha_n / [1 - \alpha_n] \right)^2 . \end{aligned}$$

Recall the assumption that

$$\sum_{n=1}^\infty \left(f(1) - \int_{\alpha_n}^1 f dj^n / [1 - \alpha_n] \right)^2$$

exists and hence we need only consider

$$\begin{aligned} & \sum_{n=1}^{\infty} (f(1)a_n^n/[1 - a_n^n])^2 \\ &= \sum_{n=1}^{\infty} (f(1))^2 a_n^{2n}/[1 - a_n^n]^2 \end{aligned}$$

which also exists. Hence it follows that $\sum_{n=0}^{\infty} C_n^2$ exists.

As an immediate consequence of this result we have the following results, which are stated here without proof.

PROPOSITION 1. *If there is a δ , $0 < \delta < 1$, such that $f(1) - f(x) \leq 1 - x$ if $\delta \leq x \leq 1$ then $\sum_{n=0}^{\infty} C_n^2 < \infty$.*

PROPOSITION 2. *If there is a δ , $0 < \delta < 1$, such that f has a continuous derivative on $[\delta, 1]$ then $\sum_{n=0}^{\infty} C_n^2 < \infty$.*

PROPOSITION 3. *If there is a number δ , $0 < \delta < 1$, a number $\alpha > 1/2$ and a number $B > 0$ such that*

$$|f(1) - f(x)| \leq B|1 - x|^\alpha \text{ for } x \text{ in } [\delta, 1]$$

then $\sum_{n=0}^{\infty} C_n^2 < \infty$.

Consider the following example. Let $f = 1 - (1 - j)^{1/2}$ on $[0, 1]$, then $C_n = \int_0^1 j^n df = 2n \int_0^1 j^{2n} (1 - j^2)^{n-1}$ if $n \geq 1$, and hence $C_{n+1} = 2(n + 1) \int_0^1 j^{2n} (1 - j^2)^n$. It then follows that $(2n + 3)C_{n+1} = (2n + 2)C_n$ and this yields the following for $n = 1, 2, \dots$, $C_{n+1} = C_1 \prod_{t=0}^{n-1} [(2t + 4)((2t + 5))]$. By the use of Stirling's formula we have that $C_{n+1}^2 \geq 6\sqrt{\pi} (n + 3/2)^{-1/2}$ and hence $\sum_{n=0}^{\infty} C_n^2$ does not exist.

The following lemma is stated without proof.

LEMMA 2. *If t is a positive integer and n is a nonnegative integer less than t , then*

$$\sum_{m=0}^t \binom{t}{m} m^t (-1)^m = (-1)^t t!$$

and

$$\sum_{m=0}^t \binom{t}{m} m^n (-1)^m = 0.$$

DEFINITION 1. Suppose $\{C_m\}_{m=0}^{\infty}$ is a real number sequence and n is a positive integer. Let $\varphi_n(0) = 0$, $\varphi_n(1) = C_0$ and if x is in $(0, 1) \cap [k/n, (k + 1)/n]$ where $k = 0, 1, 2, \dots, n - 1$ let

$$\varphi_n(x) = \sum_{t=0}^k \binom{n}{t} \sum_{i=0}^{n-t} \binom{n-t}{i} (-1)^i C_{i+t}.$$

THEOREM 2. *The set of all square summable moment sequences is dense in l^2 .*

Proof. Let, for each nonnegative integer t , $\varepsilon_t = \{\delta_{ij}\}_{i=0}^\infty$ where δ_{ij} is the Kronecker δ . Associated with each such sequence ε_t , there is a function sequence $\{\varphi_{k,t}\}_{k=1}^\infty$ as given in Definition 1. For each nonnegative integer t and each positive integer k there is a number sequence $C_{k,t} = \{C_{n,k,t}\}_{n=0}^\infty$ associated, where $C_{n,k,t} = \int_0^1 j^n d\varphi_{k,t}$.

A straight forward computation yields

$$\begin{aligned} C_{n,k,t} &= \sum_{m=0}^t (-1)^{t-m} (m/k)^n \binom{k}{m} \binom{k-m}{t-m} \\ &= (-1)^t \binom{k}{t} \sum_{m=0}^t \binom{t}{m} (-1)^m (m/k)^n \end{aligned}$$

and therefore

$$\sum_{n=0}^\infty C_{n,k,t}^2 = \sum_{n=0}^\infty \binom{k}{t}^2 \left[\sum_{m=0}^t \binom{t}{m} (-1)^m (m/k)^n \right]^2.$$

This, using Lemma 2, becomes

$$\begin{aligned} &\sum_{n=t}^\infty \binom{k}{t}^2 \left[\sum_{m=0}^t \binom{t}{m} (-1)^m (m/k)^n \right]^2 \\ &= \sum_{n=0}^\infty \binom{k}{t}^2 \left[\sum_{m=0}^t \binom{t}{m} (-1)^m (m/k)^n (m/k)^t \right]^2 \\ &= \sum_{n=0}^\infty \binom{k}{t}^2 k^{-2t} \left[\sum_{m=0}^t \binom{t}{m} (m^2/k^2)^n m^{2t} \right. \\ &\quad \left. + 2 \sum_{m=0}^{t-1} \binom{t}{m} m^t (m/k)^n (-1)^m \sum_{i=m+1}^t \binom{t}{i} i^t (i/k)^n (-1)^i \right] \\ &= \binom{k}{t}^2 k^{-2t} \left[\sum_{m=0}^t \binom{t}{m}^2 m^{2t} k^2 / (k^2 - m^2) \right. \\ &\quad \left. + 2 \sum_{m=0}^{t-1} \binom{t}{m} m^t (-1)^m \sum_{i=m+1}^t \binom{t}{i} i^t (-1)^i k^2 / (k^2 - mi) \right] \\ &= \sum_{m=0}^t \binom{t}{m}^2 m^{2t} \binom{k}{t}^2 k^{-2t} k^2 / (k^2 - m^2) \\ &\quad + 2 \sum_{m=0}^{t-1} \binom{t}{m} m^t (-1)^m \sum_{i=m+1}^t \binom{t}{i} i^t (-1)^i \binom{k}{t}^2 k^{-2t} k^2 / (k^2 - mi) \end{aligned}$$

if $k > t$.

Note that

$$\lim_{k \rightarrow \infty} k^{-2t} k^2 \binom{k}{t} / (k^2 - m^2) = (t!)^{-2}$$

and that

$$\lim_{k \rightarrow \infty} k^{-2t} k^2 \binom{k}{t} / (k^2 - mi) = (t!)^{-2}.$$

Then it follows that

$$\begin{aligned} \lim_{k \rightarrow \infty} \sum_{n=0}^{\infty} C_{n,k,t}^2 &= \sum_{m=0}^t \binom{t}{m}^2 m^{2t} (t!)^{-2} \\ &\quad + 2 \sum_{m=0}^{t-1} \binom{t}{m} m^t (-1)^m \sum_{i=m+1}^t \binom{t}{i} i^t (-1)^i (t!)^{-2} \\ &= (t!)^{-2} \left[\sum_{m=0}^t \binom{t}{m} m^t (-1)^m \right]^2 \\ &= 1. \end{aligned}$$

Hence, if t is a nonnegative integer

$$\lim_{k \rightarrow \infty} \|C_{k,t}\| = 1. \quad (\|\cdot\| \text{ is } l^2 \text{ norm})$$

Let us now show that

$$\lim_{k \rightarrow \infty} \|\varepsilon_t - \varepsilon_{k,t}\| = 0.$$

Suppose t is a nonnegative integer and k is a positive integer greater than t .

$$\begin{aligned} &\sum_{n=0}^{\infty} (\hat{\partial}_{n,t} - C_{n,k,t})^2 \\ &= \sum_{n=t}^{\infty} (\hat{\partial}_{n,t} - C_{n,k,t})^2 \\ &= (\hat{\partial}_{t,t} - C_{t,k,t})^2 + \sum_{n=t+1}^{\infty} C_{n,k,t}^2 \\ &= (1 - C_{t,k,t})^2 + \sum_{n=t+1}^{\infty} C_{n,k,t}^2. \end{aligned}$$

Now

$$(1 - C_{t,k,t})^2 = \left(1 - \binom{k}{t} k^{-t} \sum_{m=0}^t \binom{t}{m} m^t (-1)^{m+t} \right)^2$$

and

$$\lim_{k \rightarrow \infty} (1 - C_{t,k,t})^2 = \left[1 - (t!)^{-1} \sum_{m=0}^t \binom{t}{m} m^t (-1)^{m+t} \right]^2$$

since

$$\lim_{k \rightarrow \infty} \binom{k}{t} k^{-t} = (t!)^{-1}$$

and hence by Lemma 2

$$\lim_{k \rightarrow \infty} (1 - C_{t,k,t})^2 = 0$$

Combining this with the fact that

$$\sum_{n=0}^{\infty} C_{n,k,t}^2 = 1$$

yields, $\lim_{k \rightarrow \infty} \|\varepsilon_t - \varepsilon_{k,t}\| = 0$ for each nonnegative integer t .

Since $\{\varepsilon_t: t = 0, 1, 2, \dots\}$ is a complete orthonormal set for l^2 and each point can be approximated by a square summable moment sequence, it follows that the set of all square summable moment sequences is dense in l^2 and hence the theorem is established.

REFERENCES

1. R. P. Boas, *The Stieltjes moment problem for functions of bounded variation*, Bull. Amer. Math. Soc., **45** (1939), 399-404.
2. L. L. Dines, *Convex extension and linear inequalities*, Bull. Amer. Math. Soc., **42** (1936), 353-365.
3. P. Halmos, *Introduction to Hilbert Space*, Chelsea Pub. Co., 1957.
4. A. Jakimowski, *Some remarks on the moment problem of Hausdorff*, J. London Math. Soc., **33** (1958), 1-13.
5. G. G. Johnson, *Concerning local variations in the moment problem*, J. London Math. Soc., **41** (1966), 667-672.
6. ———, *Concerning local flatness in the moment problem*, Portugaliae Math., (3), **28** (1969) 137-149.
7. J. S. MacNerney, *Hermitian moment sequences*, Trans. Amer. Math. Soc., **103** (1962), 45-81.
8. H. S. Wall, *Continued Fractions*, Chelsea Pub. Co., 1957.
9. J. H. Wells, *Concerning the Hausdorff inclusion problem*, Duke Math. J., **26** (1959), 629-645.

Received January 7, 1972 and in revised form April 24, 1972.

UNIVERSITY OF HOUSTON

